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7­4 Log Properties

Product Property

Quotient Property

Power Property

In most instances, you will be shrinking the expression into one log.

A. Expand.

log2
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Expand.

log

B. Condense by rewriting as one log.
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Condense by rewriting as one log.

C. Evaluate.

log28 + log24 = 

5
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Evaluate.
log381 ‐ log3 9 =

2

Evaluate.
5log33 ‐ log39 = 

3

side note:  logb b = 1

Proof:  
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Evaluate.
log5 1 + 2log5 25 = 

4

side note:  logb 1 = 0

Proof:  

For our purposes, we will use:

Check it with a previous example: log381 ‐ log3 9 =

= 4 - 2 = 2
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